Blue print for the model paper — Physics

Semester End External examination

For | year core courses

2017 — 2018
Subject Core
Given in the Question paper To be answered
S. Type of 2 ®
No. quﬁtion q‘sé %’E?gé =R Bé %Ef‘éé 5 2
S & Sogod| o |88 Soo8 °¢&
Section— A
1 | Essay 5 10 50 3 10 30
question
Section - B
p | Shortanswer | g 5 45 6 5 30
Question
TOTAL 9 -
Percentage of Choice given = 959_560 x100
35
= — — 0
b 100 36.8%
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Blue print - for internal Examinations

Given in the Question To be answered
paper
Y= C
d © 9 [72) [%2]
“ S% 55 |285S| g |58 |£28B%8 we
5 8 |83°8| 58|09 S 2Q| o
z% =z 3| FE z% >SS 3S|FE
1 | Section—A
Very shor
ery short 4 24 4 24
answer
questions
2 | Section—B
Short
3 8 24 2 8 16
answer
questions
TOTAL 48 40
8
Percentage of Choice given  =---- X 100 = 16.66%
48

The total of two internals is reduced to 20 marks and the other 20 marks
are further divided as follows

Seminar = 5 marks
Assignment = 10 marks
Group discussion/quiz = 5 marks
Total = 20 marks
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Blue print for the model paper — Physics

Semester End External examination

For 11 & 11l year core courses

2017 — 2018
Subiject Core

Given in the Question paper To be answered
) “5 g n wn
o =
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n > S 7 T8 OB o I b S5 08 | B85
[ ) = 3] =) 2 it}
< z% =zR_z2| FE z% >SS 3S|FE
1 | Section—A
Essay 5 10 50 3 10 30
question
2 | Section—B
Short 8
answer
question 5 60 8 5 40
3
Problems 4
TOTAL 110 70
Percentage of Choice given = QIO 100 3636 %
Subject Elective
Given mp;hpeerQuestlon To be answered
Y=
CZD- 8 g 8 o < 8 ~c <
o =} ° f} S |2 ° 6 <
Zc%; =32 3|FE Zc%; =z 23| FE
1 | Section — A
Long answer | 6 10 60 4 10 40
questions
2 Section —B
Short 10 5 50 6 5 30
questions
TOTAL 110 70
Percentage of Choice given = (10-700x100 _ 36 40 o

110
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Blue print - for internal Examinations

Given mptahpee?uestlon To be answered
Y= C
2 8 g 2 c < 2 c <
= =} Lo 89 2 o0 <
Z%a =32 3| FE Z%a =zRz|lFE
1 | Section — A
short answer 8 3 24 8 3 24
questions
2 | section — B
Long answer | 2 6 12 1 6 6
questions
TOTAL 36 30
Percentage of Choice given = (630100 _ 16,66 %

36

The total of two internals is reduced to 15 marks and the other 15 marks
are further divided as follows

Seminar = 5 marks
Assignment =5 marks
Group discussion/quiz =5 marks

Total = 15 marks
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